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migs |(Ehl%| F45 | A (?EI;AEJE ket
M4 s 2| 372 166,950

il i 5| 502| 172,200

M4 i 6] 386 127,050

i i 7] 626] 212,100

il i 8| 378]| 168,000 [#EiR4F
M4 s 8|  449] 103,950

i i 8| 554 223650

4 i 9] 443| 192,150

i i 9] 456| 117,600

4 i 9| 539 182,700 |3FHR4
il it 10| 505/ 118,650

i it 11 510| 173,250

M4 s 12|  410] 74,550

M4 i 12|  440[ 105,000

M4 i 13| 460 208,950 |iEifR4F
il ik 13 525| 263,550 [sFiR4F
il i 14 380] 64,050
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MR AR 5 | BKE | @A) ik
L4 i3 2 267 46,200
L4 ik 2 346] 158,550
L4 i3 2 355 159,600
L4 i3 2 434 159,600
24 i 3 596| 137,550
L4 i3 4 611] 136,500 |$FiR4E
L4 i3 4 649| 107,100
L4 i3 4 680/ 107,100
L4 i3 4 705| 118,650
L4 ik 5 732] 110,250
24 i 6 758| 169,050
L4 i3 6 887| 242,550
L4 i 7 724| 163,800
L4 i3 7 784 201,600
L4 i3 8 540 38,850
L4 i3 8 784 126,000
L& i3 8 787/ 180,600
L4 it 10 694| 148,050
L4 i3 12 900[ 217,350
[ B e

T
migd |MRA| 45 | KF | @&da) 5%
XHEE |E 3 780| 575,400
X#FE |E 3 803| 592,200
XHFE |E 3 810/ 579,600
x#FE |E 3 810| 603,750
XHF |E 3 859 634,200
XHE |E 3 865 622,650
X#FE |E 3 924/ 672,000
XHFE |E 3 925| 680,400
RHEE | 3 674| 465,150
RHEF | 3 716] 548,100
RHEF | 3 724| 559,650
RHEE (i 3 730| 579,600
RHEF | 3 736| 593,250
R4 | 3 746| 577,500
R4 | 3 749 569,100
RHEF |iE 3 766| 616,350
RHEE | 3 786] 619,500
RHEF | 3 801| 605,850
RHEF (i 3 820 664,650
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